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X4 BT LR
2EmH (ABAFx)

FR B L X |2 |ENR| £E
SRk 255 | 3,306 1,742 1,564 9.0 8.6 10.1
SERE 264 | 3,120 1,639 1481 8.5 86| 10.1
k274 | 3,336| 1,699| 1,637 9.2 88| 103
SERE 284 | 3405 1,782 1,623 9.4 89| 105
FRL 294 | 3584 1,899 1,685 9.9 92| 108
SERE 304 | 3628 1,927 1,701 101 94 11.0
S e | 3582 1,896 1,686 10.0 96 112
&% 22 | 3680 1,953 1,727] 103 97| 11.1
S 3&F 3,820 1,999 1.821] 108| 102| 117
&% a5 | 4226 2226 2000 120[ 112] 129

1) EERRA I

Sl = i = = N
NS B vgm | mx [MOS) ex |TEP| an (wes DRI ax |zok| wn
TR 254 887| 394 308 261 184 109 63 39 16 6| 1,039 3,306
TR 264 894| 408| 286 287 186 104 54 38 8 4| 851 3,120
TR 274 927| 401 301 280| 213| 102 49 33 18 6| 1,006 3,336
TR 284 958 382 317 280| 251 94 57 39 17 10 1,000 3,405
TRE 294 975| 437 273 306| 236 87 51 39 19 2| 1,159 3,584
TRE 304 971 429 290| 260 250 121 46 50 17 6| 1,188 3,628
S TE 966 411 277| 262 298] 105 67 44 14 1l 1137 3,582
&S 24 | 10100 424 229 248| 384 93 49 50 17 4l 1172 3,680
S 3E 993 407 235 242| 472 92 57 62 12 7| 1,241 3,820
<# 4% | 1,001 470 220| 260 522 111 78 34 23 7| 1,500 4,226

EERRFNEIE(AO10A%)

2\ | == n o gt N = N
NS B vgm | mx |BOS) ex |TEP| an (wes|DLT) ax |zok| wn
TRk 254 | 2423 1076 841| 713] 503 298] 172] 107 44 16| 2838 903.0
TRk 264 | 2448 1117 783| 786| 509 285 148| 104 2.2 1.1 2330 854.2
TRk 274 | 254.3| 1100 826| 76.8| 584 280 134 9.1 49 16| 276.0 915.2
TRk 284 | 2636 105.1| 872| 770 691 259 157 107 47 28| 275.1 936.9
FRL 294 | 2694 1207 75.4| 845 652 240 141] 108 5.2 0.6] 3202 990.1
FRL 304 | 2695 119.1| 805| 722| 694 336 128 139 47 17| 3297 1,006.9
&S eE | 2694 1146 772 73.1| 831 293 187 123 39 03| 317.1 998.9
S 24 | 2831 1188 642 695 1076] 261 137 140 48 1.1 3285 11,0313
& 3% | 2799| 1147 662 682| 1330| 259 161| 175 34 20| 349.7| 11,0766
&S 4% | 2846| 1336 626| 739| 1484| 316 222 9.7 6.5 20| 4265| 1,2016
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